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Linearized knot diagam

Solving Sequence

911»38—»4—»7—>Gﬂ5—>10—>14>2ﬁ>clac4309
A knot diagranﬂ Cs €3 €1 G G5 Cio Cn1 G2

Ideals for irreducible component#ﬂ)f Xpar
I = (2.20194 x 10*'u® 4 4.46582 x 102u®7 + - - + 2.15629 x 10*2b + 5.77763 x 1072,

— 5.60651 x 10%%u™® — 2.01892 x 10%3®" + - -+ + 2.15629 x 10%%a + 8.89136 x 10%%, u*? + 3u®® + -+ — 5u -
I¥ = (ua+b, u?a+ a® + 2au + 3u® + a + 5u + 4, u® +u® — 1)

* 2 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L
It = (2.20 X 102138 4 4.47 x 1022437 4+ - . +2.16 X 102b4-5.78 X 10?2, —5.61 X
1022438 -2.02x 10234374+ . .42.16 X 10%?a4-8.89 X 10?2, u394-3u?®+...—5u—1)

(i) Arc colorings
1
ag
ail = )

2.60007u3® + 9.36292u37 + - - - — 11.3955u — 4.12344 )

az = \ —-0.102117u3® — 2.07106u*” + - - - — 13.0171u — 2.67943

)

2.7944143% +10.0298u3” + - - - — 13.9989u — 5.24015
—0.0584579u3® — 2.06978u37 + - - - — 13.6305u — 2.76324

0.700760u3® — 0.594268u3" + - - - + 7.97882u — 0.0611499

ar = ( —1.25362u% — 2.81386u%" + - - + 0.0129788u — 0.500639>

ag —
ayq =

—1.95438u38 — 3.40813u37 + - - - 4+ 7.99180u — 0.561789
—1.25362u%8 — 2.81386u>” + - - - 4+ 0.0129788u — 0.500639

2.47112u38 + 9.86388u3" + - - - + 8.27156u + 1.66377 )

ag =

—0.721787u®® — 4.52792u3" + - - - — 15.7237u — 2.45051

)

u5—u +u>

2.46841u3® + 9.39037u3” + - - - — 9.44573u — 3.72104
az = \ —0.0315650u3® — 2.27311u37 + - - - — 14.5271u — 2.54332

2.46841u38 + 9.39037u3” + - - - — 9.44573u — 3.72104
a2 = \ —0.0315650u3® — 2.27311u37 + - -+ — 14.5271u — 2.54332

a1 =

(ii) Obstruction class = —1

(iii) Cusp Shapes __ 95167190231219974262615 38 + 642665286688782560331753 37 S

910083121628952116105487 1?ZSiégggfgggggggéggg&&)6693 21562949437525330879636
10781474718762665439818 21562949437525330879636




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cy W4+ 10— 1

C2 w3 2203 4 1700 — 1

c3, C7 w3 +3u® + -+ 160u + 64

Cs u — 4u® 4 - 4 602u — 49

C6,Cy w3 —3ud 4. —3u+1
cg, C10 w3+ —Bu+1

c11 w3 +23u% w1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢4 Y30 422038 . 1170y — 1
C2 y*? — 6y + - 4+ 31510y — 1
€3, Cr y30 4+ 35y%8 + ... — 23552y — 4096
Cs Y30 — 34938 + ... + 391706y — 2401
€6, Co Y 49yt y—1
cs, €10 Y — 23y 44y 1
11 v —11y® 11Ty — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u= 0.174715 4 0.9536661
a = —0.107736 — 0.1411471

b= —0.224524 + 1.3760201

—5.68977 + 0.807891

—5.63151 — 0.397491

0.174715 — 0.953666.1
a = —0.107736 + 0.1411471
b= —0.224524 — 1.3760207

u =

—5.68977 — 0.807891

—5.63151 4 0.397491

u = —0.113785 4 1.0394801

a= 0.1112140 4 0.07065451

b= —0.41499 + 1.535891

—4.49350 — 8.176121

—3.77298 4 5.447471

u = —0.113785 — 1.0394801

a= 0.1112140 — 0.07065451

b= —0.41499 — 1.535891

—4.49350 4+ 8.176121

—3.77298 — 5.447471

= —0.906304 + 0.2587931
—0.59831 + 2.095551
—0.938219 — 0.4671531

0.05191 + 4.166361

—0.57665 — 9.004271

—0.906304 — 0.2587931
= —0.59831 — 2.095551
—0.938219 4 0.4671531

0.05191 — 4.166361

—0.57665 + 9.004271

0.913889 + 0.0583001
0.77201 + 4.316041
—0.20598 — 3.295921

—1.32570 — 2.153841

—38.3073 + 0.36581

0.913889 — 0.0583001
0.77201 — 4.316041
—0.20598 + 3.295921

—1.32570 4 2.153841

—38.3073 — 0.36581

0.814464 + 0.3808921
0.328778 + 0.693706.1
—0.352686 — 1.0526001

—1.92828 + 0.12066.1

—7.15424 — 0.126901

0.814464 — 0.3808921
0.328778 — 0.6937061
—0.352686 + 1.052600.1

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—1.92828 — 0.120661

—7.15424 4 0.126901




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.062003 + 0.8918511
a= 0.073492 — 0.1304221
b= 0.43523 —1.384271

—1.45248 — 3.136091

—0.74981 + 2.494521

u = —0.062003 — 0.8918511
a= 0.073492 + 0.1304221
b= 0.43523 + 1.384271

—1.45248 + 3.136091

—0.74981 — 2.494521

u = —0.791534 + 0.7934941
a = —0.286108 + 0.2842391
b= 0.033088 + 0.1702701

2.88333 + 1.525661

—2.95623 — 6.428751

uw = —0.791534 — 0.7934941
a = —0.286108 — 0.2842391
b= 0.033088 — 0.1702701

2.88333 — 1.525661

—2.95623 + 6.428751

u = —1.105650 + 0.2838911
a = —0.916031 — 0.5295361
b= —0.320477 + 0.0111031

—3.35360 + 5.469411

—6.70822 — 8.695591

u = —1.105650 — 0.2838911
a = —0.916031 + 0.5295361
b= —0.320477 — 0.0111031

—3.35360 — 5.469411

—6.70822 + 8.695591

1.155090 + 0.1391041
a = —0.289265 — 1.3214701
b= 0.71983 + 1.541851

u =

—2.82585 — 1.960971

—4.21009 + 0.401381

uw= 1.155090 — 0.1391041
a = —0.289265 + 1.3214701

—2.82585 + 1.960971

—4.21009 — 0.401381

b= 0.71983 — 1.541851

u=0.833700

a= 0.604067 —1.20362 —8.91670
b = —0.694607

u = —0.952533 + 0.8008871
a= 0.358525 + 0.0423821
b= 0.117335 — 0.1106521

2.42328 + 4.441501

—7.41017 — 1.052671




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.952533 — 0.8008871
a= 0.358525 — 0.0423821
b= 0.117335+ 0.1106521

2.42328 — 4.441501

—7.41017 + 1.052671

u = —0.670244 + 0.2491171
a= 0.35712 4 1.405171
= 0.408266 + 0.1385191

1.33536 + 1.468081

4.04275 — 4.373871

u = —0.670244 — 0.2491171

b= —0.04542 + 1.544041

a= 0.35712 — 1.405171 1.33536 — 1.468081 4.04275 +4.373871
= 0.408266 — 0.1385191

u= 1.254360 + 0.4532171

a= 1.01660 + 1.371161 —5.43179 — 1.523891 0

b= 10.06649 — 1.639501

u= 1.254360 — 0.4532171

a= 1.01660 —1.371161 —5.43179 + 1.523891 0

b= 0.06649 + 1.639501

u = —1.261920 + 0.5004581

a = —0.67622 4 1.810781 —5.09332 + 8.173671 0. —5.172141

b= —0.79327 — 1.681801

u = —1.261920 — 0.5004581

a = —0.67622 — 1.810781 —5.09332 — 8.173671 0.+ 5.172141

b= —0.79327 + 1.681801

u = —1.317290 + 0.3843491

a= 0.50231 — 1.818381 —10.41510 + 3.757871 0

b= 0.58706 + 1.528501

u = —1.317290 — 0.3843491

a= 0.50231 4 1.818381 —10.41510 — 3.757871 0

b= 0.58706 — 1.528501

u= 1.2617204 0.5746591

a = —1.09075 — 1.204531 —8.99304 — 6.360821 0




Solutions to I V—=1(vol ++/—=1CS) Cusp shape

u= 1.261720 — 0.5746591
a = —1.09075 + 1.204531 —8.99304 + 6.360821 0
b= —0.04542 — 1.544041

u = —1.30473 4+ 0.561431

a= 0.71828 — 1.706771 —8.1954 + 13.89021 0

b= 0.73324 + 1.826351

u = —1.30473 — 0.561431

a= 0.71828 + 1.706771 —8.1954 — 13.89021 0

b= 10.73324 — 1.826351

u= 137975+ 0.412981

a = —0.83835 — 1.291187 | —9.33600 + 3.030111 0

b= —0.16526 + 1.616571

u= 137975 —0.412981

a = —0.83835 + 1.291187 | —9.33600 — 3.030117 0

b= —-0.16526 — 1.616571

u =

b:

—0.415565 + 0.2223771
0.82602 — 1.704381
0.738838 — 0.4430101

1.15178 — 1.505991

2.56109 4 2.723151

b:

—0.415565 — 0.2223771
0.82602 + 1.704381
0.738838 + 0.4430101

1.15178 4 1.505991

2.56109 — 2.723151

b:

0.030712 + 0.3526091
2.43638 — 1.810101
—0.531247 — 0.4456331

—0.39510 — 2.821361

0.57403 4 4.296611

b:

0.030712 — 0.3526091
2.43638 + 1.810101
—0.531247 + 0.4456331

—0.39510 + 2.821361

0.57403 — 4.296611




IL. I¥ = (u?a + b, v?a + a®? + 2au+ 3u®* + a+ 5u + 4, v+ u? —1)

(i) Arc colorings

aq =

(

(

(

(-
o= ()

("4

(

(

(

(

2u?a
a2 = \ —au
(ii) Obstruction class =1

(iii) Cusp Shapes = —7u?a — 3au + 3u® + 8a + u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C2,C5 (u? +u+1)3
C3, Ct u6
€4 (u? —u+1)3
6 (u —u? +2u —1)2
Cs (U3 + 'U/Q _ 1)2
g, C11 (u® +u? +2u +1)2
C10 (u3 —u?+ 1)2

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq4 (y2+y+1)3
Cs
C3,Cr yG
Cg,C9,C11 (y3+3y2+2y—1)2
Cs, €10 v’ -y +2y—1)°

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —0.877439 4 0.7448621

a= 0.111778 — 0.5587701 | 3.02413 4+ 4.858011 | 2.65209 — 7.503331
b= 0.706350 4 0.2662901

u = —0.877439 4 0.7448621

a= 0.428020 + 0.3761871 3.02413 4 0.798241 | —0.92725 + 3.216741
b= —0.583789 + 0.4785721

u = —0.877439 — 0.7448621

0.111778 4+ 0.5587701 3.02413 — 4.858011 2.65209 + 7.503331
0.706350 — 0.2662901

= —0.877439 — 0.7448621

0.428020 — 0.3761871 3.02413 — 0.798241 | —0.92725 — 3.216741
= —0.583789 — 0.4785721

0.754878

—1.53980 + 2.667011 —1.11345 + 2.029881 | —2.22484 4 4.657891
0.87744 — 1.519771

= 0.754878

—1.53980 — 2.667011 —1.11345 — 2.029881 | —2.22484 — 4.657891
0.87744 + 1.519771

a
b
U
a
b
U
a
b
U
a
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (® +u+1)*) (0 +4u® + -+ 10u — 1)
€2 (W +u+ 1)) +22u%8 + - +170u — 1)
c3,Cr u®(u®? + 3u®® + -+ + 160u + 64)
Ca (u? —u+ 1)) (W +4u® + - +10u — 1)
Cs (u? 4 u+ 1)) (w3 — 4u®® + -+ + 602u — 49)
6 (v —u?+2u— 1)) = 3u® +--- —3u+1)
Cs (u +u? =))W =3+ —5u+1)
Co (u +u? +2u+1)%)(u® —3u® + . —3u+1)
€10 (u® —u? + 1)) = 3u® 4+ —5u+1)
11 (u* +u? +2u+ 1)?)(u* + 230 + -+ u+ 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢4 (P +y+ D3 + 225 + - 170y — 1)
“2 (P +y+ 1D —6y°° + - 431510y — 1)
cs, cr yO(y3 + 35y + - - - — 23552y — 4096)
“ (2 +y +1)°)(y* — 34y® + - + 391706y — 2401)
C6, Co ((° +3y* +2y = 1)) + 9™ +---+y - 1)
cs, C10 (v =9 +2y = D)™ =23y +---+y - 1)
e (4 +3y* +2y = 1)*)(y™ — 11y>° + -+ 117y — 1)
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